A*ﬂm# 98 2H
ESEERTERRTE

EHRCHTIRE - —LBEBE (SHTEEI3EEHAMUE)

1 xR« —IRERS
- ZEFAIE 9 & (RBOFRH) SBRMITIFR 1R LFE 5K
MBOBERKFRE 240 4 — 30 4 = 210 %4
2B EDOERRR 240 4 — 60 4y = 180 %4
| | & 390 %

@ #A liiwz:/JTW)ﬁﬁEFEl P A

ENEwE =5 210 4 X 11N/ 32 A = 72 %

CHREBRESE 210 45 X 10N/ 32 A = 66 4
ARARZEER 210 4 X 5 A/ 32 AN = 33 4

mE7r—xheakmmos 210 43 X 3 A 32 A = 20 4

EENERER 210 49 X 3N/ 32 AN = 20 %4

&8 211 &

@ 2HBIEIZBRRO—BERKRTEHR—ALSROEM LT 5,
BRTZEEH 180 X 11 N/ 34 AN = 58

5 v

I L EESE 180 4 X 10N/ 34 A = 53 %
NAREEH 180 43 X 5N/ 34 AN = 26 %
#R77—AbeRzmHos 180 4 X 3 A/ 34 AN = 16 4
HEXZEH 180 4+ X 3N/ 34 A= 16 %4
HIKDIFEF 180 H X 1A 3 A= 5 4%
A A VR 180 4 X 1N,/ 34 AN = 5 4
, &t 179 4>

LURFLIEE (EIR)  ARERN —REM - EERN (EMOL. EREEET)

== 3=5i | 130 4 é%ﬁfg’f@g?ﬁ —F}QEF?H#F’EJ@%J
FIp L £ 119 4y [RVIE=IRI o

%% = ~ DK - —EBOIEFE. RIROBT
ARFZEEM 59 & |BEEENLWVIEIZITI,

P AN

%5577;;(]\&5-7&%%@% 36 4 Xgﬁﬁggiiﬁgéénxxm@%%
HEFEEM _ 36 4y |X—ARIRIIE 2EEFRSHLBED
 ~ T %IEEWAiTﬁ@Té LB TX
#HOL< YIS 5 &3, (ER20%)
A=A IVE, , 5 4

& &t 390 4y




